A R— b

ERSFxy b4 X,

& & BhHA—F W B (A & % HheA— B (4]
LI S04 4% LTI J0H 5
i W CHI5s0 CHOT6E i CHI40 CHO16
EEE THE 10 HHEE THEW 10
R 41.8kg 26, kg B LR a0 Skg . kg
AT 98 OKN (10, 0t FHIEE 127, 4N (13, 0t
D60
§ |2
B82.5
| t =8
o !
o 1 .1
= L a
o TR 3 .
= | " o 2
1 E = o
~ 4 z =
2 = w
o i
= = §
Ly E— [
= 3 '
B ¢
& 1 o )
a | o = |
I B Claman |
. t=i85 = t L
o = @ =
= 5 g 3
s # I A
e WEpE
?l= ol Qi
B & HEhtH—t b ) E % HhH - i)
oo 3244 B 24944
L CHI32 CHO16 & % CHI24 CHO16
BT THE 10 LR TR 10
i AR 21,5kg 26, Ghg o IR 16, 9kg 26, Gk
FEEATI 147, KN (15, ) FEEIR 147, GkN (15, 0t}
oo
o = o
® 2 - s
= - - L]
- = =
b
! : : "
o8 ro4 : -
o ™
: x
3 3 2
o L]
. : : -
- - = b
L -l T A
: 5 | ;
i TaE - ! T
- Qi Lo
A AH— b rossmoso| | BB AHE— b |nosepasos ] uenk | |HHHE—rEE | maRR
CHD18 2.3z | 20 CHOD10 143k | 2 CHU2414 4. 25kg CHSP 0. Fikg
CHU1814 3. 36kg
A8 6 148 oo
T T71 o o
= g )
g g 8
$EL B N
S R SEEUFAL b M2 0 /2
oS R ER
EwhdR—FEREZESS T | CHCU1 ghtdt—EHEBEY ST CHCU2
MR EE T E B A IR "R A W iitA TR A IR H 8 ()
1. Oke 4, kN (9. 5t) 4. QKN (0. 5t) 1. O 3. 43h8 (0. 35¢) 3. DIN (0. 4t 10

| fam

HERFFxy Y4, 1Tom

$114, 3% 48 6

(0

BB2. 6x pdB 6 $82.6x 48,6
Whtt— P FHEX? 57 CHCD1 Whid— FFHAESS T CHCD2
MG W R AW il REFFL LA &R 2 W il LR T L]
1. 2hg 4, 9kN 10, 5] 4. 9KN (0. 5t) 1, e 3, 438N 0. 35¢) 3, 92N (0, 4t} i

1 7mm

HFHSF v ¥ X,

d114,3% p48 6

I cuFdomys

A= Rz DEER (P40 6) TiHRORIZST
WHY 5T (CHCUT « CHOUZ « CHCD1 « CHODZ) # A

F&EL,

BoLG® o486

0 #Eyt— a0 EEE
TFEOL I 2UERELLBE. AHEALTLE
WhHR— LR LHERNETERT LTSS,

HouE ¢486

MERHHAi—

h=RRIE

hnd20a

[CHD18, CHOND)

FFEDLEE (0456
w_E ZmElA

LG (CHIS0)

HFIYE (G406
& 2mLA

EHE®S ST (CHOU

REDLGEF (@10.6)
BE2mER

TFHE (CHIE

h=2400

FHES ST (CHDN

\|HFE ($18.6




